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Crane Operator Level 1

Q 1) Which instruction is given to the crane operator by the following hand sign?\c QliQ g

T Hobdl  sh SITURCR 1 DI A1 (AT e Siran g2

1) Lower the hoist\EﬁW CARIEKT
2) Lower the boom\gH B H Gy

3) Stop the operation\av—l'ﬁ AP & 1%111
4) Lower the crane\®x A1 P

Q 2) In which among the following type of cranes the boom can be extended and retracted?

\9 IR & HA1 B s 90 Sgran S Tahdr § 3R araw +ff feran S wemar g2

1) Hydraulic\&d-dferd

2) Pneumatic\dTaarg

3) Cable wire\®had dR

4) None of the above\SURIdd T CAEEK

Q 3) Which among the following instruction is given to the crane operator by the following

hand sign?\mmmmﬁaﬂmﬁﬁqmmmm%?

1) Lower the crane\@x A1 B

2) Retract the telescopic boom\@&‘f gH d1qy <Rl
3) Move crane backwards\ % tﬁ%’ @f GlT\Q’

4) Lift the hoist8I3% IR 331

Q 4) Which among the following is a term associated with hydraulic crane?\HAfRId 7 9
EN AN
P T BT SICIdb b I S[ST 3T Ueg 82

1) Telescopic boom\@&‘f qH

2) Cylindrical mast\ SIHR AR
3) Tubular Jib\CISTR Siid

4) Concentric Arc\Ifdbigd 3T

Q 5) Which among the following instruction is given to the crane operator by the following

hand sign?\mwmmﬁwmﬁﬁmmmmg?
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1) Raise hmst\fﬁ%ﬁ CARRTEIL]
2) Retract the telescopic boom\fﬁ&f a;q CICR G|
3) Move crane forwards\oh T @ GlTU,

4) None of the above\SIRIGd | 15 o

Q 6) Which among the following application is done for overhead power line in case of

Toweécrane?\‘c"m%% A H 3MaRe s UTaR A5 & o R & 3 &9 J1 o™ fobar
Slldl 8?2

1) Considered always energized \GHRIT SolTaT HHT ST %

2) Safe until hoist rope doesn’t make contact\SId dh 3ITc I} s :|3CT hdl % dd dd
IRf&a

3) De-energized if there is no power supply at work-site\@BTIRIT TR faeTelt G‘I'I'Cﬂ%f Toi g
WS-

4) De-energized if the lines have safety cover\dfq d |3'_'i K| GRET hdR % ar SOT-Q:ITYFW

Q 7) In which among the following condition the maintenance personal is permitted to

%perate the crane?\FEIRET fRufaa o ¥ frus YeRama B &1 o Ia™ &1 &mﬁf
o

1) During light load\§edh HR o aRM
2) In the absence of crane operator\% 3{TTRER Pl Gﬂq@fﬁf o

3) During routine maintenance operatlons\ﬁqﬁlﬁ WRWTd YT % GlIxI+

4) None of the above\STRIGd U D15 ol

Q 8) As per regulations, who among the following must be present at the site during

telescoping act1v1tles‘?\ﬁ'q1:h & AR, FafaRad A Y forq carenift nfafafeat &
GRM U3¢ W WG g1 aTeu?

1) Operator\&ﬁw

2) Supervisor\ﬁ%

3) Field Technician\&31T ddb-lep! [ARIER
4) All of the above\SURTa T

Q 9) Which among the following is provided on both the sides of a trolley?\flﬁ & qiHl
forRT IR Fafafed ® 9 &9 91 ueH fasan o g2

1) Trolley basket\@jl?‘ﬁ GG

2) Buffers\dth

3) Warning 1ights\a—cﬂa:ﬂ & forg AT
4) None of the above\SWRIdd & ﬁs“ I8l

Q 10) In which among the following situation all the controls are checked by the operator?

\Foferfed 7 O fg Ruforal 7 IR ! &1 siiter gR1 9 fovar &l 82
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1) After erection activity\ﬁTﬁUT Tfafafd & a1g
2) During the beginning of each shift gd® R1ge &t R[>3Td & ERM

3) After critical load apphcauons\rlﬂa'qpf dre &la’mﬂﬁ & dlg
4) None of the above\URIGd H Ebﬁ_sc

Q 11) Which among the following is not included in the title block of the drawing sheet?

e 7 3 o 1 g1g e & e sdfe & wnfiye T8t gt 82

1) Sheet number\ e TR

2) Scale of drawing\glg"T CIESAN]

3) Method of proj ection\TI&TUT 1 fafdy
4) Size of sheet\RfC BT 3MHR

Q 12) Which among the following is an example of reducing scale\FRfIfad B A H= I
W d BT B BT TP 3G &7

) 1:1
2) 1:2
3)2:1
4) All of the above\SURTaT THT

Q 13) Which among the following is an enlarging scale\FfeIRad & @ o 1 W
[ERSIRY|

?

D 1:1

2)3:3

3)3:2

4) None of the above\SRIFd T Tﬁ—&p :fégf

Q 14) The object is placed in which among the following quadrant in First Angle Projection

system?\Ug <1l P10 UioiaR Rieeq d a¥d ARG JJIH(quadrant) T T ST %‘?

1) First quadrant\UYH A

2) Second quadrant\f@?ﬂt[ IR
3) Third quadrant\?j’?‘ﬁq dgRHA
4) Fourth Quadrant\aqy IgqR

Q 15) Which among the following is used to represent visible outlines?\eYHI Fg@TS

o1 ufafAfda w3 & fore FRufaRad 7 @ oF a1 Sudi fosar S 82

1) Continuous thick\HId! fFRAR
2) Continuous Thin\Tdd! ARG
3) Chain thin \Udelt =4
4) Chain thick\HI<t I

Q 16) Which among the following must be done in the event the crane contacts an energized

g;g&%%ww A O U H3q B fufa & FafaRaa & @ o fear s
9
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1) Get down from the crane cabin\dh1 hfa ¥ = 3T

2) Jump down with feet together\UTd HTY Tad gl SIE] Csll

3) Remain in the cabin until the lines become de-energized\w T 9 d% o+ 38 o db
NIEEEIEREN]

4) None of the above\SURIad § ﬁ’sﬂ '_-|_E>pf

Q 17) How many person are authorized to give crane signal to the operator?\i*rm P ol

Ry 37 & o foram =afaa siftrgra g2

1
2)2
3)3
4) 4

Q 18) Which among the following on boom radius takes place due to load applied on crane?

\oh] TR AT A8 o HRUT §H Bean R Ffafad § I &1 91 SRR giaT 87

1) increases\qm
2) decreases\Ycld

3) variable\YcHl de-l
4) remains constant\Uch JHTT T g dl %’

Q 19) In which among the following case a signal person is required?\mﬁ'@ﬁ 9 g
qHd H 3 T R HHT &t STaRashd o7

1) When landing area cannot be seen\oId e 833 '_‘Igjfa@'[ Sl Hahdl %
2) When the path of travel cannot be seen\SId JTAT b Art ﬁ é“@n ST Jahdl %

3) When the load cannot be seen\SId e '_'|_6°f ERQII ST b dl %
4 All of the above\SURIGd Ht

Q 20) In which among the following form the communication must be maintained with the

signal operator?\FAIRId # ¥ fob g TR ¥u U e 3iTuRex o 1Y TR Y 34T
ST 9T E?

1) Daily\RISTHT

2) Continuously \Faffid TR W

3) Hourly\gx ¢

4) None of the above\SURIdd I DIs ol

Q 21) Which among the following is not a type of industrial crane?\gTH I Cack:l
o 1 T UBR g1 52

1) Boom\gH
2) Barrel\SRd

3) Overhead\
4) None of the above\SWRIdd & aﬁ‘é EEl

Q 22) Which among the following factor influences drive selection for an application?

WWﬁﬁﬁwwWW%WWWﬁumﬁaw
?
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1) Starting torque\W'IT‘ﬁ 42
2) RPMTTT e Yo
3) Environmental conditions\GITaRT

4 All of the above\SURIGd 4t

Q 23) Which among the following type of drive is used in hoisting machines?\éll@"l =
# Fofoad # 3 fod UeR & $13d o1 IuaiT b STl 82

1) AC slip ring motor\AC &g foT AR
2) DC shunt motor\DC e AR

3) DC compound motor\DC HUT3S Oiex
4 All of the above\SURIad Ht

Q 24) Which among the following type of motor is used for linear motion of crane?\ @1

e ifd & fore forg R &1 Hiex &1 SuanT forg U R favar Sirar 22

1) AC slip ring motor\AC &g fr grer
2) DC shunt motor\DC R[C qiex

3) Synchronous motor\m qie}
4) DC compound motor\DC »UI3S e’

Q 25) Which among the following drive is used for precise and smooth speed control?

\Frafeed gsd # @ &1 1 9dle 3R fae 1fd gz & forg SuanT foar Sirar 22

1) Synchronous motor\m qle}
2) Induction motor\Y SR are

3) DC Motor\DC Hiex
4) None of the above\SWRIGd H ®Is ol

Q 26) Which among the following motor has the advantage of quick speed reversal?

\Fraferad Aier 7 3 foad @afid fd gdies &1 ard a2

1) Synchronous motor\m qiex
2) DC Motor\DC Oie’

3) Induction motor\§ SR qiex
4) All of the above\SURIGd Tt

Q 27) Which among the following is the advantage of Synchronous motor\FHfARIT A &

B T JeaBTIeTh (Rieh ) HIex BT oTH 82

1) High power factor\3=l e RSB
2) Less heat production\H TH IdTeA

3) Ease of reversal of direction\fGRIT TeTe # ST
4) Effective speed control\IHTdT T fd=or

Q 28) Which among the following term is used to denote the carrying capacity of crane?

\sh1 1 aTEh & 1 a1 & fore Faferfad # 4 i 11 2o U foba SfraT 82

1) Span\HqU+
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2) Tonne\cH

3) Drive\gIgd
4) None of the above\SWRIF H D5 -Tol

Q 29) Which type of motor is used in overhead travelling cranes?\31ARE S I b H b
TR $1 HIC BT SN a1 STl 52

1) Slow speed motors\&THT 7T AR

2) Continuous duty motor\fARTR S?zl\cnl Hiex
3) Induction motor\Y SR
4) None of the above\JURIGd H ﬁ’sﬂ el

Q 30) In which activity light duty cranes are used?\[oh g Tfafafe & @ge T‘ﬂ\_cpf o BT
QU b ST 82

1) Automobile workshops\3{TCIHISTZd HIARTAY
2) Movie studio\fthed E{%@f

3) Power plants\ﬁﬁ?‘ﬁ L3LF

4) All of the above\SURIad Tt

Q 31) In which activity heavy duty cranes are used\for g Tifafafdr & yrt 351;& B Bl
SUIRT T STl 32

1) Steel mills\STITd PRATT

2) Ore handling and processing\3{d¥h S SOl 3R URHRT
3) Heavy Engineering works\HRT S’Gﬁﬁqﬁﬂ Eap]

4) All of the above\SURTa THT

Q 32) What crane speed is used for handling fragile objects?\I]d aae’h P GHTA B
fere fopr o1 71f 1 U o STt &2

1) Low speed\hH Tifa

2) Medium speed\H&H T

3) High speed\?‘ﬂa T

4) None of the above\SRIFd o ?ﬁ_'ic :lﬁ

Q 33) Which among the following is used to indicate that the surface requires machining

operation?\m@ﬁﬁﬁaﬁqwmm Pl %ﬁ; ddo &I A=A TR B
HTIRIEH I 82

1) Roughness indicator\d ARGIRSESER
2) Leader line\@TSX T

3) Projection line\WToTaRT T

4) Finish mark\3{d =1

Q 34) Which type of allowance is provided to bends and curves in dimensioning?

\STIHTIT & gbTa IR aeh & Tt fbd YR 1 Sy & o 82
1) Angular\a'ﬂ'Uﬂ'q
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2) Linear\XRa%
3) Datum\ScH
4) None of the above\STRIFd U D5 ol

Q 35) Slip gauge is used to ensure the accuracy of reading in which among the following

case?\%@uﬁawm“sqﬁ@rmwmﬁﬁmaﬁwwgﬁ@ﬁaﬂ?@mm
ST 82

1) Dial indicators\STdc] Hhad
2) Micrometers\m

3) Vernier calipers\aﬁQT FioTR
4 All of the above\SURIGT Ht

Q 36) Which among the following type of file is used for wood work?\gtl"ef ¥ fog e
D B APb Sl P BRI B H JUTNT D1 el 82

1) Single cut file\UHd He w1
2) Double cut file\Sdc] ERi|
3) Rasp file\R-T¥Y EXl

4) All of the above\SURTad Tt

Q 37) In disc brake, the disc is attached to the /o 9% U fswm ST gidl %

1) Wheel/ Tfgar

2) Axle/ 31
3) Suspension System/ ST PUI|

4) None of the above/ IWIad I HI3 T8l

Q 38) When brakes are applied on a moving vehicle; the kinetic energy is converted to

/518 T T TS OR §idh TIIT STl @ o, TR Sl uiRafed gl g
1) Mechanical Energy/mm‘f

2) Heat Energy/ dl4 Sl

3) Electrical Energy/ fé?{g%ﬂu 3ol

4) Potential Energy/ YHTH

Q 39) Calculate: 1/2 +2/5 +5/5 =  BIIOET SN 1/2 +2/5 + 5/5 =

1)1.9
2)0.9
3)0.8
418

Q 40) Lightest metal is while heaviest metal is / q&Y gehl Yrd
& STaTd Jad YR &1 g

1) Steel, Titanium/ %c“m, Clsaﬁql-l

2) Aluminium, Steel/ TegfRfgH, Wid
3) Lithium, Osmium/ fIfeaH, i
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4) Steel, Lithium/ ¥id, fafdayq

Q 41) This knot is used with other knots to keep hoisted objects in proper orientation./ ¥
mgrmmaﬁﬁﬁm&mmﬁwﬁ%%umw o 1Y foa
SIS

1) Safety knot/ GR&IT TS
2) Half hitch/ 3MTE]t T3

3) Clove hitch/ ST TS
4) Manila hitch/ Tl T3

Q 42) Calculate: 20% x (1/2+2/5+5/5) = J TTOAT B 20% x (1/2+2/5+5/5) =

1)0.48
2)0.52
3)0.38
4)0.35

Q 43) Study about different types of metals and their processes is called J

fafa TR @1 Tl 3R e uftharsti & IR H forT ST aTet & bl
FHETAC G|

1) Physics/ Hifd® fagm
2) Chemistry/ XITG- faqH

3) Metallargy/ ‘iﬂﬂﬁw

4) Biology/ Stid

Q 44) What colour is a safety sign which tells you that you must do something?/ DI T
IRET Tavd g, Y SHTUe! I8 Ul Iadl ¢ fob 3id & oham ot Tehdl 82

1) Reduce speed/ T EIEIVQ
2) Yellow/ Utall
3) Blue/ =Tl

4) Green/ gl

Q 45) 10 yards = metres/ 10 Tl = Hiex

1)9.14
2)8.17
3)9.17
4)8.17

Q 46) The load chain of an electric hoist be wrapped around a load for lifting

purposes/@ﬁﬁ?ﬂﬂ?{lﬁﬁWW_@W%B%@%WW%W@T
TUCT ST 18T

1) Should Not/ H&] @I d1gT
2) Cannot/ GECERESCE]

3) Must Not/ -1 @UeT STY

4) Will do/ @0 ST
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Q 47) Gear Ratio is the of combined set of/ FITR S{JUId ﬂ'ﬂaﬁ T &I

1) Frictional Ratio/ PIREIEEY STJUId

2) Acceleration Ratio/ «dRU[ SHJUTd

3) Velocity Ratio/ 97T 3{UTd

4) None of the above/ SRIgd A I or?lsf '_-|_6ﬁ

Q 48) 5 metres = km /5 Hiex = framiex

1) 0.005
2)0.02
3)0.2
4)2

Q 49) On a conventional mechanical crane, which of the following components requires an

every day oil level verification?/ U URURS TifAd oA Uy, ol gepi HQ HA
fFRaffd 7d TR gQuA & o smavae 82

1) Transfer Gearbox / RIFIARUT LRREIGS|
2) Final drive/ sifam gled

3) Torque converter/ TP H-ae

4) Planetary reduction/ g e o

Q 50) Before a rigger can select the length and capacity of slings needed to lift a load, what
two things must he know about the load?/ Td» RR I tré’?r YR I3 & ﬁ*rq STARIDh
Y B AaTS SR &l BT T9H HR Ghd o, HR & aR H B I &l diol udl

1) Height & Manufacturer/ aTs 3R fAafar

2) Weight, Centre of Gravity/ HY, Wﬁfm bx
3) Colour, Designated Pick-up points/ X7, i fUw ey sid
4) None of the above/ 3UR[dd oy GAE] :|€[

Q 51) What is the maximum line pull for a 5-ton snatch block?/ 5 € I b b fam
HfYHIH AT Jd T 82

1) 2.5 tons/ 2.5 CH

2) 10 tons/ 10 €4

3) 5tons/ 5 ¢

4) None of the above/ dLN\IdrI Yy dv\l‘sr Tsﬁ

Q 52) Fork lift truck is used for/ I [CTUC T-mmmmmm- & o ya fpar Sirar 8

1) lifting and lowering/ 3AT-l 3R =
2) vertical transportation/ ¢THIdd YIRdg-

3) Both 1 & 2/ 1 3R 2 G

4) None of the above/ SRId A Or;l'-:: '_-|_69[

Q 53) Wheel barrows is used for/ &l Tﬂ@ --------------- & fore IuanT fosar Sra %
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1) lifting and lowering/ STl 3R :ﬁ%[ NIEI
2) vertical transportation/ ¢T+ldd qid &

3) Both 1 & 2/ 1 3R 2 &Y

4) None of the above/ dLR\IOK‘I f[ ﬁ Ob\lsr :ﬁ)[

Q 54) Overbridge crane has/ SfTaRforet b %

1) Transverse movement/ fode mifa

2) Longitudinal movement/ G‘Ia%{?ﬁﬂ%f
3)Both 1 & 2/ 1 3R 2 Eﬁ?ﬁ

4) None of the above/ dLNIGK‘I Yy Ob\I‘:‘Z =|'5°r

Q 55) You are to drive a mobile crane on a highway. Which of the following documents
should you carry with you? 1. Driver s licence. 2. Mechanical inspection certificate for the
crane. 3. Axle spacing specification. 4. Manufacturer s recommendations. 5. Certif

1)1,2,3,6 and 8/ 1,2,3,6 3R 8
2)1,3,6 and 7/ 1,2,3,6 3R 8
3)1,3,6,7and 8/1,3,6,7 3R 8
4)2,4and 5/2,4 3R 5

Q 56) Special purpose material handling equipments are used in/ fa=w 3%@1 it %?-)ﬁ"l'r[
UGN B o g fosar ST 7

1) Process Layout/ gt sfHfa=my
2) Line Layout/ G SifHfa=arg
3) Both 1 & 2/ 1 3R 2 G

4) None of the above/ SWRIgd A I Ob\I‘:‘Z '_-|_6°[

Q 57) A red circle with a line through it hangs from a piece of equipment. What does it
mean? / U AT g Ueh XA & HIAH I Th SUGRU] & ThS 3§ ACHT g3 ¢ | IHHT &l
s 52

1) You must use this piece of equipment/ 3THT IUHR & B @ﬁ BT AN 3aRg
EREISIITY

2) There is a risk if you use this equipment/ i 30 3 USRI BT IuAIT foan dt 398
Sifen 8

3) You must not use this piece of equipment/ 3| IUHRUT & EXS gﬁ CIRLLIUET]
A1 MY

4) None of the above/ IWad A Y aﬁé '_'|—E>P[

Q 58) A setup of gears where the follower has more number of teeth relative to the number
of teeth in the driver is used to / i &1 Uap fa=am STgt IR SrgaTs
(WPTAIER) & U Gid| ol ST 1A gRT AT fobU ST a1l idl| & el &

1) Lift heavier weight/ 3—R°f CERETIGIN
2) Reduce speed/ Tifa UE]U. .

3) Increase Resistance/ PIGRIE] Wﬁ

4) Multiply Speed/ TTd &8 1T B
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Q 59) What does a blue sign showing a face wearing glasses mean? / JXH] H6'1:| ard 1?46

o fewra gu ar Yovd o1 giaT 82

1) There is a risk if you do not wear eye protection/ BICECIPE ] & A DT IR T8l
foraT ot SR & |

2) Eye protection must be worn/ BE| TR&T A gg=T E1IRY

3) Eye protection is optional/ BE| grat CEAR

4) People wearing glasses are not allowed/ A 1ZIBef gl feadl &I &Iatlﬁf :|73°[%

Q 60) See Saws are an example of / ST < DT Uh 3algrUl %

1) First Class Lever/ Y4H gyuft I

2) Second Class Lever/ fedg goft S<a®
3) Third Class Lever/ ﬂ?ﬂ’q oft Iara®s
4) Fourth Class Lever/ ﬂﬂ?-f guft Il

Q 61) The resistance of a conductor of diameter d and length 1 is R Q. If the diameter of the
conductor is doubled and its length is doubled, the resistance will be / T 3 3R Fl_dlé ud
& TP Hedex BT URIY AR Q g | Al HSder BT T HH 81 offdl § 3R

1) R/ 3R
2) 1/2R/ 1/2 3R
3) 1/4R/ 1/4 3R

4) 8R/ 831}
Q62) is a self propelled machine which is used mainly to exert a
powerful tractive force for pulling other machines. / Uh W-Tferd

TR B et SuahT g U § 3 A=Al &1 Wiem & forg ues wifdaeneh Sfdea aa
RG]

1) Bulldozer/ @ﬂw
2) Crane/ El

3) Tractor/ EEE?
4) Dozer/ SO

Q 63) Ratio between and effort is called Mechanical Advantage / ARTAD
d19 3rqTd & Fifid Y FHel ST |

1) Efficiency/ fqurdT

2) Resistance/ gfeRIY
3) Load/ HIR
4) Friction/ By

Q64) crane is used for open sites and it possesses a very long reach /

B o gl B! & e SUTNT foat STl § 3R S9H 9gd delt Ugd
|

1) Goliath/ ey
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2) Derrick/ SR
3) Swing Jib/ {&71 ford
4) Cable/ ad

Q 65) The trucks with automatic unloading device are also called cranes / Tadferd ATd
IARMS IUHRUN T gU bl ! Y o1 gl STl ©

1) TRUE/ 9@l

2) FALSE/ Teld

3) Cranes are not trucks but have automatic unloading devices/ El ch ol % A
AT H1d SARA aTdl USR] %

4) None of the above/ RUNCSEE aﬁs‘ 8l

Q 66) A knot should not be considered completely safe until what is backing it up? / T

713 ! dd I TXI dRe o YRI&T 18! HHT ST AT ofd b b ST dig THAT T 812

1) Half hitch/ 314t i@

2) Lock Knot/ §G 76

3) Safety knot/ JR&T TS
4) Prusik Knot/ ¥ i@

Q 67) Heat energy is transferred from one body to another through /A Sl

DI TP IRR A gasl IR A & HTeOH Q AR fparsiar g

1) Radiation/ fafdbRor
2) Convection/ Hag-

3) Conduction/ dcI4/Udlg
4 All of the above/ IURTGT THT

Q 68) Which of the following is not a feature of figure eight knots? / fFafafea ¥ 9 o=
313 T & R (o) ot faRrar =&l 82

1) simple to tie/ CICERERSRG|

2) Knot will not slip or pull from the rope./ i) :@0[ eyt a7 T=It 9 faerht

3) Knot turns are less sharp, causing less wear on the rope.TﬁB" nﬁg Y ol a?f %, o
T IR B H Ug1 USdl @

4) increase strength of knot by 40%/ T G| J-I\Slq\dhl 40% do dg STt

Q 69) If a life safety rope is found unusable or deemed unsafe, it should be removed from

all forms of service including utility service / BIEESICE| gl Q?Fﬁ ﬂqtn"ﬁ g1 &W &ld
foreht oY, S8 ST a1 &1+ M HRd gL T IR B Garsii

1) TRUE/ 9@l
2) FALSE/ 7TeTd
3) It can be used in some cases/ Ye PO arHdl H ST B Sl gblt %

4) None of the above/ SR | Y P a1

Q 70) What makes copper useful in the manufacturing industry? / fafmror Ie & dier &1
E2IREUINICEIG K
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1) Electrical Conductivity/ faggd dTeidhan
2) Heat Conductivity/ 3> ®HI dlclh dl
3) Both 1 & 2/ 1 3R 2 &Y

4) None of the above/ SR | Y P a1

Q 71) What does a green sign with a cross mean? / U B o TTY Y T BT 7T b

g e?

1) You are entering a safe zone/ 34 Uch ﬁTf\&lﬁ &3 H U= B ?% %
2) This is first aid/ I8 WUHH IUIR §

3) There is first aid help/ Ug UTIffes IUIR TrIdl %

4) Don’t look back/ Ui I R 9 ¢

Q 72) Tenacity is the measure of of a material / €gdl HIUDH
& Uard &1

1) Tensile Strength/ d-ddT dlchd

2) Elastic Strength/ NMECEEIC

3) Specific Strength/ fafry dred

4) None of the above/ SWRIFd A Y Ebﬁé 8l

Q 73) Aluminium, magnesium and titanium are what type of metals? / Qﬂﬁlﬁw,

3R T g UHR &1 UTqU § 2

1) Light weight Non-ferrous metals/ Gedhl 3ce Yrd
2) Ferrous metals/ e Yrd

3) Shiny metals/ JHD AT Yrd

4) Anti Rust metals/ ST It Yrd

Q 74) In order to raise and shift heavy loads from one place to another, the are
employed in the construction of big works. / YRI a5 &I T ™ 4 §FI§ VW aaﬁ
3R RIFTART F34 & farg, Ao & 58 et & fFafsa g1

1) Crane/ El
2) Dozer/ SOl
3) Tractor/ ?\?ET

4) Bulldozer/
Q75)5/5-13+1/3
1o

2)-1

3)1

4)0.5

Q 76) You need to lift a load from the floor. You should stand with your / 3! AT
T HR I3 B 9Exd g | 3T 30 Ra-T I1gTy

1) Feets wide apart, legs straight/ R Uh QGQ | ST, i et
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2) Feets together, legs straight/ R UhdTy, <o et

3) Feets wide apart, legs bent/ W Udh §F|§ | S IGRIR <Al %a'ﬁﬁg

4) Feets together, legs bent/ W Uadh g1y, <Al 5‘\13"33{ Eg

Q77) is measuring the temperature of a body / YRR & dIHH=
& AU ET 5

1) Thermometer/ yHfHeR
2) Hydrometer/ slsglﬂlaz

3) Hygrometer/

4 All of the above/ ITRTad Tt

Q 78) What colour is a safety sign which tells you that there is a risk of danger ahead? /

{377 BT TP d 3MTH! Id1dT § P M Pt RB R BT SIigH 22

1) Red/ 1A
2) Yellow/ GTeTl
3) Blue/ e

4) Green/ BRI

Q 79) 25 degrees celsius = fahrenheit / 25 TSI Tfca™ =

1) 72
2) 45
3) 77
4) 82

Q 80) The threaded angle in V-type screw thread is ./ a°r-a§q b IS H IS
BT &l

1) 45°
2) 30°
3) 60°
4)90°

Q 81) What is the cause of fire in factories? / PRGI § 3T T BT HRUT T 82

1) Working on the Lathe / TRTG HRI UR HTH BT
2) short-circuit / Tic Afe

3) Transferring of loads / HR T RITATARUI

4) Lifting of material / TTRI &1 ST

Q 82) Nomenclature is a system of: / ATHTEE &I Udh Ol %l

1) distinction / JHI
2) naming / ITHH U
3) formation / 7T

4) writing / TG
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Q 83) For tightening very large bolt, which tightening method is preferred? / dfgd a@: diec
B HI & forg, Wﬁﬁﬁ‘[?ﬁﬁﬁl(ﬁ%@ ST & Sl 82

1) Bolt Stretch Method / diee @?[ nYs
2) Heat Tightening / M E'IE?I?PT

3) Tension Indicating / IR mﬁ'ﬂ
4) Yield Controlled / TIt8 helcs

Q 84) Which fastening device is used in nut and bolt assembly to give nut with flat/smooth

surface for fastening? /-C GhT diec Ao H HI & i%IQ CI%E /WW%WQ‘[W
EN Y

& & FIT DIF T B & IUBRYT BT IUINT [Ha1 91 872

1) bolt / U
2) nut/ dc

3) screw / ¥
4) washer / dIRR

Q 85) Which among the following nut type has slots in top face? / fFofifea A 9 fea e
& JHR H SO U H Wil gid 52

1) Slotted or Castle Nuts / TS T HId qcH

2) Nylock or Simmonds Nuts / TEdie a1 Riws ¢y
3) Locking or Jam nuts / AT a1 S| dcd

4) Castle or Locking Nuts / SIS T AfHT “cd

Q 86) The cover plate is not used in which type of rivet joint?/ fg geR & Rde \_FT\II%T:’ |
HR Tic DI SYIN g1 fobaT ST

1) Lap joint / g Gﬂs‘d

2) Butt joint / dC Sl

3) Single Strap / et E,:q

4) Double Strap / S&¢] I¢U

Q 87) Magnetic properties of materials arise due to spin of i & =
& RO AU & JIH1I 0T SUT 8 & |

1) electrons / 3@337\‘:[

2) protons / Eh?'IT\‘:T

3) neutrons / :CE'F\‘:[

4) deutrons / SYcI

Q 88) The metal which is malleable is: / YT SIRELS]] %z
1) Gold / |

2) Silver / TGt

3) Quartz / BT (FIR)

4) Gypsum /

Q 89) Which among the following metal has very high electrical conductivity? / fAafafad

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=19 15/28



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=19

o ¥ foy urg o 9gd 31 faggd Ude® gidT 82

1) Copper / GIEL
2) Zinc / STl
3) Lead / TitS
4) Tin/ feq

Q 90) Which among the following is not a non metallic material? / IBEINITEREE) oI It
T TR o1g Ireh 78 82

1) Plastics / wWRe®
2) Rubber / Y&}
3) Leathers / dHSI ( [ )

4) Aluminium /

Q 91) Mini drafter can be used for drawing: / & §I§‘I & forg fimt ETET Eal
SUANT T o Wbl |

1) parallel line / HHIR 3@l

2) inclined line / W _gfé @

3) oblique line / Ww

4) parallel line and inclined line / AR 34T 3R _Egﬁ ng

Q 92) For drawing 90° angle, which type of set square can be used? / 90 ° CIUEEIEE]D
foTQ, o PR & AT WhIIR BT IUANT fasa S Hhell &7

1) 45°
2) 30°
3) 60°
4) 45°, 30°and 60° / 45°, 30°3MR 60°

Q93) Engmeerlng drawing boards used for drawings are normally made of

gﬁﬂ%%ﬂz fT S ara Sefifafr ST ad M dR W @raﬁ"éﬁ
|

1) metal / YT
2) wood / w

3) glass / ®IF

4) aluminium / \}I?‘Tﬂﬁtm

Q 94) Rope, cable or chain winding/unwinding mechanisms will not involve . W,

S g1 I ATSST / ST HobfaoH H TS 81 i

1) winches / fd=ig
2) tackles / Hd
3) capstans / HTEH

4 pulley / geit
Q 95) What is the MKS unit of electric field? / fAggd &5 Bt THHTY IHIs o1 &7
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1) Vmm
2) V/m
3) V+m
4) v-m

Q 96) What will be the decimal equivalent value of 75%? / 75% T GRIHAd JHJ Y Hcd
ERINRIV

1)0.7
2)0.8
3)0.75
4)0.85

Q 97) At site, if worker A complete 1/20th of work in a day and worker B complete 1/30th
of work in same day, then if both workers after working together in whole day,they will

complete of the work. / 9IgC TR, Ife A FHART T faq H 12091 BT PRI PR

1) 1/20th
2) 1/30th
3) 1/12th
4) 1/15th

Q98) will help in increase or decrease of temperature. / dlgHIA aaﬁ g1
Y H Hag DTl

1) Force / dcf
2) Motion / iG]
3) Work / Eap
4) Heat / BHCHT

Q 99) The short circuit in cranes takes place in: / ST TS gihe " Eﬁ?ﬂ %l

1) motor / e

2) tyre / CIUX

3) steering / LSRR

4) wheels / @1d (URT)

Q 100) While loading/unloading, persons working around the crane should compulsory

wear ./ QST / NS &b SR, 1 P TIUTY HTH B aTdl ATl bl
HUS Ug-T AT B

1) goggles and gloves / HTo T=H 3R M
2) gloves and socks / T SR A

3) helmet and gloves / %Cﬂjld 3R S|
4) socks and goggles / AN 3R BT T=H

Q 101) Which among the following gas is used in fire extinguisher? / SRS 3

fofafad & 9 foog 19 &1 IuanT fooar ST 82
1) Oxygen/&mﬂq

2) Hydrogen /
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3) Carbon Dioxide / BTe ST3AHTRIZS

4) Nitrogen / :Ilgailﬁq

Q 102) In steel industry, pollutants which are released in air includes: / STUTd I '.Ef,
TGN Sl gaT # BIS Ofld & 39 M &

1) oxides of oxygen / o & JHIZS
2) oxides of sulphur / TehHR & 3HAZS

3) oxides of carbon / BT& & HFAZS

4) oxides of hydrogen / BTSSIoM & RIS

Q 103) Material handling of materials and products will not include: / IRl 3R TGl &
et gsfer o e 8l giv |

1) movement / I
2) protection / JR&IT
3) storage / HERUT
4) order / hH

Q 104) Which among the following is not used in material handling in industries? /

frafoiRaa # ¥ fogeT Iugi I & grh gsfor & =8 frar Srar g2
1) hand cart / BT TS (88 BTC)

2) forklifts /
3) car / PR
4) racks / X&H

Q 105) For lifting heavy loads, ramshorn hooks are }%referred, which is commonly used in

lifting industry. / HRI YR I3 & falg, g JHfmAd g, PR 3R
W I I H U fopar ST 2 |

1) aviation / TfquRH

2) automobile / \’ﬂﬁ'ﬁh@l’lﬁa
3) marine / w_H

4) cargo / caui

% 106) E.O.T cranes can be operated: / _&FGh_CFT B DI arferd foar S gapdn
I

1) manually / ﬁQJG‘I?T Uy
2) electronically / SAGI - =0

3) electrically / fagga &
4) mechanically / BIECZRIVES]

Q 107) Name the file in the fitting lab, that has cuts on all its four sides. / i d 3T
IS C hI HIH ddIgU, [oifdh dR[ d¥W W%|

1) flat file / Teic BT
2) hand file / 8€ WA
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3) square file / ¥PTIR hIgA
4) triangular file / cIQUIY R T

Q 108) In fitting shop, bench drilling machine is high speed drilling machine used for
drilling holes from mm to mm diameter. / {7 &1 [Cag| O, d9 Igi%ﬂl
=i I Tifa 3 ferT w=iv & et Suam mm mm ST % B¢ B

1) 1 mm, Sm

2) 7mm, 25mm
3) 1.5mm, 15mm
4) 13mm, 35mm

Q 109) For safe lifting of load, spreader beams will use attachment points. / KIS

ﬁﬁ?@ﬂ@f@ﬁ%%ﬁ,@@?aﬂﬂ oy figatt &1 IuaT B3|

1) single / Uch
2) three / iG]
3) five / U

4) multiple / dgd

Q 110) In cranes, which conductor supplies current? / Ll 'Ef, P T HSaer Hc Dt

3Yfef R 82

1) Mainline conductor / J?I"IQ'HS"I e
2) Bridge conductor / fors dhader

3) Runway conductor / Td Heacx

4) Enclosed conductor / i‘:*dﬂ\l\),'s G o

Q 111) What crane signal describes by raising of arm vertically upwards by signal operator?

/ Tt 3TRCR GRT 31H &l Fadd HUR B 3R ISTHR b1 RIUd fopdpT gl BT 82

1) lowering of load / HIR dH DAl
2) lifting of load / HIR 3Tl

3) slow rate of action / Hd B i R
4) raise the boom / 39Tl del-l

Q 112) In D.C. motor maintenance program, crane operator should not look for any J

S Mex IGRATd HRIHH H, e TR B P o o ATy

1) shape of motor / X & THR
2) wear and tear of motor / Hiex & cC-

3) cooling fan blockages / da tl@ & &ITRBFU
4) corrosion in motor / Hrex o S

Q 113) Which type of crane gives the best combination of height and lifting capacity? / foa
THR B bl $als R IS D1 &HAT BT T 3BT TASH Gall 572

1) Overhead crane / RS o
2) Gantry crane / ﬁ?j El
3) Mobile crane / Ihﬁﬂg?[ El
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4) Tower crane / CIdX b

Q 114) In tong crane, there are different lifting tongs used for lifting: / e P '-Ef,
B IS P [T S-S FafoeT e (1T T SUdNT fasa ST 5

1) similar density material / HHI Y-cd arel! i
2) different thickness material / faf¥r Iﬁ?l_'ic AR IED|
3) limited number of sheets / Qﬁﬁ D1 Hifra e
4) required length of sheets / Qﬁw CARSICESED Fﬁﬂg

Q 115) To produce steel, temperature inside oxygen furnaces should be around: ) L BT

IATGH DR o o, SHiiteH Ufedl & 3iar BT arud= T ERIEIEY

1) 1700°C
2) 1500°C
3) 1200°C
4) 2200°C

Q 116) The primary raw material used in steel manufacturing includes: / T o §
e UTUfHe S AT H M 8-

1) aluminium / 3egHIIH

2) iron Ore/?“ﬁgmﬂlﬂ(w@l\’m
3) bauxite / SlRITSC

4) mica / HAYD (HISPT)

Q 117) For lubricating bolts and joints of crane, lubrication is done using based

grease. / o] See G?IT\TI\I\‘_S\I'%QEH %ﬁ"lﬁ, JMYTRT WY BT ISTIANT HIb
Ve fear S gl

1) zinc / SIXdl

2) aluminium / 3egHIATH

3) copper / didl
4) calcium /

Q 118) Testing and commissioning of crane is important to check crane PA®

B ST B P T b1 T TRII0T 3R HHIT Hgaqui 81

1) weight / HIR

2) quality / TUTddI
3) usage /

4) function / Eap]

Q 119) A scriber is a hand tool which is normally used for: / ¥hTSER Uh ¥d 3UD U] gral
g, o S AR W & forg IUART o ST 5 |

1) marking lines / G130} B ﬁﬂ%ﬁ HH
2) drawing circle / dd CEIE]

3) pulling an item / Tt a¥d CARCIER]
4) rolling of belt / e B AA B
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Q 120) The ball peen hammer normally has handle. / 3TH TR TR §ict U= %TIT i}

_ ®IgSAgEel

1) tin/ feq _

2) glass / I

3) wooden / aﬁ

4) aluminium / 3cGHITH

Level 1 Answer key

Sz.eStion Option 1(\?:)l.estion Option 1(\,?:)1.esti0n Option 1(\g(l)l.estion Option
1 2 31 4 61 3 91 4
2 1 32 1 62 3 92 I
3 2 33 4 63 2 93 2
4 1 34 4 64 2 94 1
5 1 35 4 65 1 95 2
6 1 36 3 66 3 96 3
7 3 37 2 67 1 97 3
8 1 38 2 68 3 98 4
9 2 39 1 69 2 99 1
10 3 40 3 70 3 100 3
11 4 41 3 71 3 101 3
12 2 42 3 72 3 102 2
13 3 43 3 73 1 103 4
14 1 44 3 74 1 104 3
15 1 45 1 75 3 105 3
16 3 46 1 76 4 106 3
17 1 47 3 77 1 107 3
18 1 48 1 78 1 108 3
10 4 40 3 70 2 100 4
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20 2 50 2 80 3 110 3
21 2 51 1 81 2 111 2
22 4 52 1 82 2 112 1
23 4 53 1 83 2 113 4
24 1 54 3 84 4 114 2
25 3 55 3 85 1 115 1
26 2 56 2 86 1 116 2
27 1 57 3 87 1 117 4
28 2 58 4 88 2 118 2
29 4 59 2 89 1 119 1
30 4 60 1 90 4 120 3

Crane Operator Level 2

Q 1) In case of radio communication which among the crane operator do when the signal

operator is engaged in another communication? X[STT TR & HAHA H o 3{1¥e I 1
HT NPT TG e SATuReR ol o=y TR H % gl &7

1) Continue the work till interference is over\¥ddl dH Eﬁef qb HTH TRI T

2) Stop till the original communication with signal operator is restored\RITA TR &
1Y I TaR dg1d 814 db b

3) lift the load to check if its still attached\@S 31} +ff Tt g fb Ug oiem & few o'
L]

4) None of the above\SURIad § ﬁ’sﬂ '_-|_E’p[

Q 2) The signal from whose perspective must be given to the crane operator?\ﬁ IR

B! [T 2P § Jobd faar ST anfee?

1) The signal man\RIrE B9
2) The crane operator\ﬁ 3R
3) The supervisor\qﬁw

4) None of the above\SRIdd T aﬁ‘é BEl

Q 3) Which among the following configuration is used for automatic drives?\IaaTerd glkd
& foIT 9 BIBTRRAE ® ¥ S H 91 IuANT foa S 62

1) Synchronous motor\m qiex
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2) Induction motor\S S IR qiex
3) DC Motor\DC qie’
4 All of the above\SURIaT 4t

Q 4) In which among the following case wound rotor induction motor is used\fd ATS A

ard € e U7 /iR T IUANT fbg YR fovar S g2

1) High starting torque\3= URY® <l
2) Low starting torque\=<J-1 URIYS TIb

3) Limited speed control\ T i fd=or
4) All of the above\SURTad T

Q 5) Which among the following type of motor is preferred for Boom Hoist?\gH 31 &

fore {5 TR &1 iR ) ford TR &1 TRad o ST 82

1) AC slip ring motor\AC &g fr greR
2) DC shunt motor\DC R[C qiex

3) Synchronous motor\m qie}
4) None of the above\SRIFd § ﬁs‘ :@)[

Q 6) Which among the following type of drive is used for hoist lifting and 10wering?\fﬂ3€
IS 3R HH T & (o1 FRIRId ThR & $13d &1 IUANT fohd UHR o il 52

1) Smooth movement\§{TH =Tc]

2) Precision in control\FIF0T & Regdl
3) Accurate speed \Tdld Tfd

4) All of the above\SURTa THT

Q7 \é\/hich type of motor is used in Winches?\fdd H fr R &1 Hiex &1 IuaiT foean
Il B°2

1) DC Motor\DC Hiex

2) AC slip ring motor\AC &g R AR
3) Induction motor\SS AR e

4) All of the above\SURTa THT

Q 8) Which type of motor is used in the drives of rolling mills?\RIfHT fietf & glkd T fog
TR P1 HIC BT SN {1 STl 52

1) DC Motor\DC HIex

2) AC slip ring motor\AC g fr AeR
3) Induction motor\gm:f Hiex

4 All of the above\SURIGd 4t

Q 9) What is the characteristic of belt drive?\deT gled P fa=Iedr o %?

1) Zero starting torque\¥[ YR Reaicy
2) High starting torque\3e URIHDH L3
3) Low starting torque\=gT URIHPB cidh
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4) Medium starting torque\H&H URMN® b

Q 10) Which type of motor is used for elevators?\feTOE] o foTU ford TR P AR &1
SUTNT 2T STl 52

1) Synchronous motor\gc'qdf)liacb qiex
2) Induction motor\§S IR e

3) AC slip ring motor\AC &g fer Aer
4) None of the above\SURIad § ﬁ’sﬂ 7‘|€f

Q 11) Which among the following term is used to refer the coating of zinc on a particular

metal surface?\f &t fa=y maﬁwwm%ﬁﬁﬂﬁﬂ?ﬁhmﬁémﬁyﬁﬁ
I T g IYAN b SITell &2

1) Galvanization\TTed- 10T
2) Sintering\l%l.alill
3) Cathodizing\BUSTSHT

4) Enameling\

Q 12) Which among the following is used for the accuracy of Vernier Calipers‘?\aﬁQT

HONR BT Yl & o8 376 I et T1 IUET fobam ST 29

1) Slip gauge\AT Tl
2) Ring gauge\ﬁ_‘T S|
3) Plug gauge\Wlil S|
4) All of the above\SURIad Tt

Q 13) Which among the following is used to create arc in electric welding?\m afedT
¥ 311 9 & fore FafeRad o 9 forweT IudiT fasan ST g2

1) Current\[dggd URT
2) Voltage\m

3) Contact resistance\HUP UfRIY
4) Heat\3»®™HI

Q 14) In which among the following non-consumable electrodes are used\TR ITHT

3odeIS BT IUTNT 30 I fpgd fopa ST 82

1) TIG\TIG
2) MIG\MIG

3) Submerged arc Welding\m 3T afedT
4) All of the above\SURTad T

Q 15) 2 yards = metres/ 2 7o = Hiex
1)1.82
2) 1.65

3) 1.56
4)1.54
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Q 16) A fiber core wire rope has breaking strength than a wire rope with an
independent wire rope core / b ThIgdR X dIUX ?@ﬁﬁ% -------- (‘“3 ek | EHITUh
WA IR IR HR & 1Y T IR I B T H g

1) the same/ HHIA %

2) More/ HfH %

3) Less/ H %

4) Cant be defined/ TR &I T &1 Hebell

Q 17) Resistance of a circuit is 1 ohm while current is equivalent 5 Amperes. What is the

voltage in circuit? /WWWW‘H 1 shﬁ% Slaf IdH JHDE 5 QTaTIﬁW%I
gfhe H aice ford-1 8 2

1) 5 Kw/ S See,
2) SW/ 588,
3)51/59

4) 50 W/ 50 S,

Q 18) A setup where the the load is placed between the point of effort and fulcrum is called

/ 3R 9 & S 3T B i ATH HET oIl &

1) First Class Lever/ Y4H guft Iad
2) Second Class Lever/ fedg goft S<a®
3) Third Class Lever/ Jaid 0Tt Sxicidh

4) Machine/ RE|

Q 19) Poisson’s ratio of steel is / KA BT U SJUId %

1)0.1
2)1
3)0.3
4)2

Q 20) Iron and steel industry started in India in the year / HIRd T U g o Q'?IG 3R Id
YN Y& by o &

1) 1855
2) 1860
3) 1865
4) 1870

Q 21) Largest steel company indigenous to india is / YRd & forg g El_épf
WS Wiet Hu

1) ISW / SiSaegud

2) Tata Steel/ CICT i
3) SAIL/ 4d

4) None of the above/ CENESE R EIER

Q 22) Mock drill exercises is not related to emergencies leading to ./ HId ﬁf{a HEY
Y B aTelt aimoTd FRuferlt § weiftra e g
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1) flood / dlg

2) breakage / _g'?ef
3) accident /

4) fire / 3N

Q 23) Rivet heads used for boiler work is normally of diameter ./ SIOTR & B

& fore sxmTa fpu oA a1l Rae 889 s dR R W%Eﬂ?fél

1) 5 mm - 10 mm

2) 12 mm - 48 mm
3) 55 mm - 65 mm
4) 100 mm - 125 mm

Q 24) The joints used for rods in tensile/compressive load are: / d-d / Jdifeqa uR & 9vs &
fore IugT frt 9 are i (Sigew) §:

1) Cotter-joints and pin joints / $|§€ m th fﬁqm
2) Key-joints and pin joints | Pl- Gﬂgfﬁ GﬁT fom m

3) Cotter-joints and Key joints / $-|§€ m @T@c‘[ m
4) Key-joints and Feather joints | Pl- \TII$C~H 3R hax \7|I$C~H

Q 25) A screw making company earns a proﬁt of 25% on selling of screw box at Rs. 5,000.
Find the actual price of screw box. / X Sl a'IF‘ﬁ U 5,000 39T T @Wéﬂe{ o
25% T ATH HHTA 6 | T SIa DI IRATdDH HIHd BT U Y|

1) Rs. 3,000
2) Rs. 3,500
3) Rs. 4,000
4) Rs. 4,500

Q 26) Which among the followrng 1nvolves transfer of energy usmg electromagnetrc waves?

/ Frafeiea & O fouw faggd grae i aivll &1 SUTRT B Soll BT gwIaRul QA 82

1) Conduction / Udlghtd
2) Convection / Hdg
3) Radiation / fafasRur

4) Conduction and Convection / Ydlgdtd AR Y dg-

Q 27) Driving pulley in two pulley system, on spinning will transmit power using__ ./ al

TR YU A S WSRATY 1 SUGN Db faorall G Bl

1) belt / de
2) teeth / €Y
3) rope / T
4) motor /

Q 28) In which limit switch, an object moves a lever on the switch? / {4 ferfie fega &,
TH a5 g R AR P! iRard 82

1) linear / RiiCED
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2) rotary / e

3) magnetic / ‘

4) safety / GR&

Q 29) Which class of cranes are used for severe services? / DI Y T & BT BT ST
Hie B & fo forar SITan 82

A
2)E
3)C
4)D

Q 30) The categorisation of welding torches depends on ./ afcETT w=Ial @’% Al
aiffeur R MR FRargl

1) ignition / QmQI'_‘I
2) cooling / @?«m

3) welding / AfeET
4) flaming / AT
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Level 2 Answer key
Question No. | Option
1 2
2 2
3 3
4 4
5 1
6 4
7 4
8 4
9 2
10 2
11 1
12 1
13 3
14 1
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15 1
16 3
17 2
18 2
19 2
20 4
21 1
22 2
23 2
24 1
25 3
26 3
27 2
28 1
29 2
30 2
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